








 



 

 



 

 

 

 

 

 





 

 

 



 





 

 

 



 





 

 



 

 

 



 

 

 

 

 

 

 

 

 

 

 





 

 

 

 

 

 

 

 



 

 

 

 

 

 



 



 

 

 

 

 

 

 



 

 

 

 

 

 

 





 

 



 

𝑥̅ = 3,9, 𝑠 = 1,14

𝑥̅ = 2,6, 𝑠 = 1,20

𝑥̅ =

3,8, 𝑠 = 1,17



𝑥̅ = 3,6, 𝑠 = 1,11)

𝑥̅ = 3,1, 𝑠 = 1,22

𝑥̅ = 3,9, 𝑠 =

1,37

 



𝑥̅ = 4,2, 𝑠 = 0,60

𝑥̅ = 4,3, 𝑠 = 0,46

𝑥̅ = 3,9, 𝑠 = 1,14

𝑥̅ = 4,1, 𝑠 = 0,70

𝑥̅ = 4,1, 𝑠 = 0,46

𝑥̅ = 4,3, 𝑠 = 1,27



 

 

 





 

 

 

 

 

 

 

 

 

 





 

 

 



 



 





 



 











 

 



 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 



 






